ER29EFE=HRIZRISFTILIXRE

DERAOE
MR iz K4 1R 2R =&)L Ra7—
1 NP 26 22 48
2 H i — 25 25 50
3 Lk 52 =] 88 34 25 59
3 RIEFH 32 27 59
5 TR 2B 33 31 64
BRSO
[[-{01 K4 1R 2R =2 R27—
1 KIFEM 24 27 51
2 vl i 23 29 52
3 LI AR 5 i 27 26 53
4 REFH 25 30 55
4 HEER 30 25 55
HovHT IO
I fix K4 1R 2R F—HNZXaF7—
1 F L& 27 21 48
2 FHRAAF 28 23 51
3 HIBF 26 26 52
4 R ILETF 28 25 53
4 BEFRERT 26 27 53




HE IR

[ 104 K4 =S RA07—
1 FEME(HOY) 48
1 B E AR (D ER) 48
3 Brh— (D) 50
4 RIBEM(ERS) 51
4 FHNAAF (YY) 51
R—I AV H
K& B3
V=M H @& 2
= HBIRBRER 1
VA= BIRKF 1
Hoy HFIER 1
A 4ER NN 1
4R H iR — 1
DR REEH 1




